Partdrawing for JM27000300 - Onderstel

Model No.WSTO3 TABLE SAW STAND




Partdrawing for JM27000300 - Onderstel

Nr.

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
042
043
044
045
046

Part nr.
JM27000185
JM27000226
JM27000227
JM27000228
JM27000229
JM27000230
JM00000251
JM27080058
JM27080059
JM27000248
JM27000250
JM27000249
JM00000252
JM27000251
JM00000252
JM27000042
JM27000048
257272-0
JM27000250
JM27000001
JM27000003
JM27000236
JM27000237
JM27000238
JM27000242
JM27000243
JM27000244
JM27000245
JM27000003
JM00000253
JM00000254
JM27080062
JM27000247
JM27000245
JM27000003
JM27000246
JM27000232
JM27000233
JM27000234
JM27000235
JM27000239
JM27000240
JM27000275
JM27000274
JM27000211
JM27000017

Name

Afdekkap MIt100 *
Inbusbout M10x60mm WSTO03
Handgreep WSTO03

Pin 3x25mm WSTO03

Arm WSTO03

Bus WSTO03

Inbusbout M5x6mm WSTO03
Label indicatie WSTO3
Label waarsch WST03
Knopbout M5x10mm WSTO03
Verbinder WSTO03
Stelschroef 8x48 WSTO03
Sleutelring WSTO03

Ketting WST03

Sleutelring WST03
Kruiskopschroef M5x10
Veerring 5

Ring 5

Verbinder WST03
Zeskantbout M10x35mm
Sluitring 10mm

Met.schr M4x28mm WSTO03
Handgreep binnen WST03
Beschermkap WSTO03
Handgreep assy WSTO03
Handgreep buiten WST03
Moer M4 WSTO03

Moer M10 WSTO03

Sluitring 10mm

Inbusbout M10x38mm WSTO03
Met.schr M4x20mm WSTO03
Label waarsch WST03
Basisplaat WST03

Moer M10 WSTO03

Sluitring 10mm

Inbusbout M10x55mm WSTO03
Pin WST03

Borgring 20mm WSTO03
Naaldlager 51101 WSTO03
Drukveer WSTO03
Stelschroef WST03
Naaldlager 51103 WSTO03
Moer WSTO3

Borgring 24mm WSTO03
Sluitring 6 (L)

Veerring 6

'H!!l,;!!!‘fl




Partdrawing for JM27000300 - Onderstel

Nr.

047
048
049
050
051
052
053
054
055
056
057
058
059
060
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079

Part nr.

JM27000241
JM27000276
JM27000254
JM27000245
JM27000137
JM27000017
JM27000024
JM27000245
JM27000003
JM00000348
JM27000449
JM23400059
JM27000265
JM27000449
JM27000003
JM27000253
JM27000252
JM27000256
JM27000003
JM27000246
JM27000258
JM27000257
JM27000004
JM27000259
JM27000261
JM27000260
JM27000261
JM27000261
JM27000262
JM27000252
JM27080061
JM27000263
JM27000264

Name

Inbusbout M6x16mm WST03
Standaard assy WSTO03

Bus WSTO03

Moer M10 WSTO03

Inbusbout M6x12

Veerring 6

Sluitring 6mm

Moer M10 WSTO3

Sluitring 10mm

Rol cpl WST03

Sluitring 20mm WSTO03

Wiel WST03/05

Bus WSTO03 P

Sluitring 20mm WSTO03
Sluitring 10mm

Inbusbout M10x105mm WSTO03
Steun WSTO3

Steun B WST03

Sluitring 10mm

Inbusbout M10x55mm WSTO03
Handgreep binnendeel WST03
Handgreep buitendeel WST03
Tapschroef ST3.9x12
Inbusbout M8x40mm WST03
Carr.ring 8mm WSTO03
Verbindingsplt WST03
Carr.ring 8mm WSTO03
Carr.ring 8mm WSTO03

Moer M8 WSTO03

Steun WSTO03

Label Makita WSTO3
Borgmoer M10 WSTO03
Stelbout M10x40 WSTO03

'H!{l,;!!!‘fl




